
E 3246-0111

         Robin

1

2

3

4

5

6

7
8

10

13

14

15

11

12

16

17

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36
37

38

39

40
 

41
41

44

18

19

42

45

53

9

43

47

49

3

51

52

46

50

54



E 3246-0111 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 10022580   30 1 25038011  DIN933-M8x40 

2 1 20005010   31 1 11000929   

3 2 25049016  DIN440-R9 32 4 20029011  VSKZ 8 

4 1 20029003  VSK 8 33 4 21000587  DIN7964-M8x60 

5 1 25038007  DIN933-M8x20 34 1 10022582   

6 1 10016959   35 4 25048003  DIN125-A10,5 

7 1 25049016  DIN440-R9 36 4 25038015  DIN933-M10x30 

8 1 25038007  DIN933-M8x20 37 4 20029001  VSK 10 

9 1 20029003  VSK 8 38 4 25031028  DIN1587-M10 

10 1 20025564   39 1 20026481   

11 1 20029007  VSK 6 40 2 20025019   

12 1 25038002  DIN933-M6x16 41 2 25025191  DIN80705-M20x1,5 

13 1 20007007   42 2 10017034   

14 1 20029007  VSK 6 43 1 25031003  DIN934-M8 

15 1 25038002  DIN933-M6x16 44 1 21000239   

16 1 21000080   45 1 25031002  DIN934-M6 

17 1 10016928   46 1 25048001  DIN125-A6,4 

18 3 20029012  VSKZ 10 47 1 20029007  VSK 6 

19 3 25044013  DIN912-M10x30 48      

20 4 25049026  DIN7349-8,4 49 1 20007007   

21 4 20029024   50 1 25038003  DIN933-M6x20 

22 4 25038010  DIN933-M8x35 51 1 25047026  DIN7991-M10x30 

23 1 30047446   52 1 25005004  DIN6798-V10,5 

24 1 10022593   53 1 20029003  VSK 8 

25 4 25005003  DIN6798-V8,4 54 1 25048001  DIN125-A6,4 

26 4 25047017  DIN7991-M8x20         

27 1 21000233           

28 1 21000288           

29 1 25049016  DIN440-R9         

01.11        


